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Section 6.3
Unit G -Day 4

Find the composition of functions
Determine the domain of a composition
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Perform the indicated operations and state the
domain in set builder notation and interval
notation. (Domain for #1 and #2 only).

Let f(x)=-2x + 5 and g(x)=x* + 2

1. f(g(x)) 2. 9(f(x)),
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Letg(x)=7x-1, h(x)=2 &Kk(x)= _2x
. X X+95
p: R D: x# O D:ix#=—%
Perform the indicated operations and state
the domain (#4 -7) in set builder notation
and interval notation ‘

4. (h ° g)(x) 5.9 ¢ h
h (4¢<)) 34‘" <)
A ) = (%) -
N = = 14 ) adthﬁk
-\
&) )=
LeN =2 % -y

D Ix—-l £+ 5
X+ '/—

\ G (= '°
IXx+=H3 7. k(h(x))

6. h(k(x)) -2

= _
P "'_S;'x"
- =
L+ Sx
e
B 'ji 5*5&
8. (h » g)(3 T (R
(h = 9 Arsnro D om0
h(a(2)) Sy
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2()=79-| ey vy )
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Let p(x) #4X -3, h(x) =x2+ 5, & k(x) =Vx - 8

D= 'D'.‘& X-8=2 o\’ .
9. Find h(p(0.5x - 1)) Xz % C::::b:*
R ne
P (0.5~ = 4 (o.sx=N)—3 ua‘?:
o AX ~4-3
- 1)‘__1

A= = (a5 _
= (Ax="D(AX—=1) *+5

T Ay G\ A+ S

=AY =AR K+ DY

#10-13 Find the indicated composition and

state the domain.

10. h(k(x)) 11. k(p(x))
=Y+ -
he () = K(p6A) = | tx-3>-%
BRI e ES) D = N HAx—11
D: fx:x=zg3 -2 = "“Y—‘ \ =
=y ([, e)
12. h(p(x)) 13.(p ° p)(X) '
(Ax-2) + 5 PPN

= (Hx-3NY%-D+ s =4 (4% -2) -3
"'l(p%’-—‘aqx +9+s
P ILx—1S7)

= 2(Bx —12ax +1 =
. : (-eo,-b
D - §X 'X"\RS x_o;z, 5\
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Let f(x) = 3 g(x)=12x-9, & h(x) = (x - 3)
hWeD= x-=
D: ><=I=O o % DY X-3= O
Xz 3
14. Find f(g(1))
al\) = 1e-q4=73

-C(‘%)= 3/-5 = m

#15-16 Find the indicated composition and
state the domain.

15. (f ° g)(x) 16. h(g(x))
=S V>
F(alxY) = \ij‘ (3x-q-3)
’:l \'D.x—l‘fj
=_2-/‘\:LL‘ \ 4 (3x—3}

N3 s e

D 4x—-33 = Ix-22
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